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Year 10

Stége 5 Mathemétics

General Instructions

»  Working time — 90 minutes.
»  Write using blue or black pen.

s Board-approved calculators may be used.
o All necessary working should be shown in every question.

o Answer in the space provided.

Total marks — 90

e  Attempt all questions.
s Marks for each question are indicated.
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Working Mathematically. D N
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Section A:

Question I. @rks)

In the diagram BC = CD and ZACB=ZACD=90".

Prove that AdBC = AADC giving all reasons,

I
Question 2, (3 miirks)
Prove that A4BC ||[JADEC giving all reasons
v
Merks U Dty
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Question 3. (G/marks)

~ Evaluate ¢ for the following diagrams, giving reasons for your answer.

Note: Marks will be awarded for communicating all reasoning.

Question 4. //mark)

The image shows an insect drawn using a scale factor of 3.

SCALE
331

i Length ’ !

U Extrxoolagy

By firstly measuring the image, find the actual length of the insect.

Muskae's Une Orly
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Question 5. @ns)

AABC is similar to AADE,

AB=6cm, BC=3 cmand DB =2 cm. -

E
C
NOT
. TO
v B SCALE
e
|
{
U B A

b2 OOt 6 €I — ]

' Bvaluate the lcngth of ED.

Question'6. @varks) ) -

The interior angle of a regular polygon is 140°.

How many sides does the pol'ygon have?

v

Question 7. }/marks)

Amy swims each morning from Stormy Point (S) to the
end of the jetty (/ ), she then runs along the jetty to
bridge street and directly back to Stormy point.

Stormy Point
]

, Nor
SCALE

f—— Jetty 500 m —4

How far has she travelled?

\

Question 8. warks) ’ '
Find the size of arl interior angle of a regular polygon .

whose angle sum is 6120°,




"Section Bt Algebra,

)

Question 3.fmarks)

The line y =~

Question 2. jﬁ/marks)

tion 1. mark{ ' . ;
Questlon ( ) ) A line lias the equation 6x—2y—5=0.
| ints A(-2,7) and . o
A line passes through ho point A( ) e ) Rewrite the equation in gradient-intercept
B(4,-3). form.
1) Find the gradient of the line. ‘ . l

_ ]

i)
iif)
if) Hence, find the equation of the line passing
through AB leaving your answer in general i)

form.

What is the equation of a line parallel to
6x—2y—5=0 that passes throngh the point
(—1, —'4) ? Give your answer in general form.

~

intersects line / at 4 (~2,12).

¥
Y

Ci40)

+ 8 crosses the x axis at C'(4,0) and

X -

10
I ' y=-2x+8

i) ‘What is the equation of line /7

i)  Determine if the point (-3,14) lies on the line

y=—2x+8,

A circle is to be drawn with diameter 4C,

ili) ~ What are the coordinates of the centre of this

circle?

Question 4. ((1 éark) : '
Hx=+b>—4ac; evalnate xif a=2,c=~6and b=—4

Question 5. V/ma&ks) .

x+4 y
Ify= T, find an expression for x in terms of y.
b x N

Question 6. $/rnark/s)

Solve the following equations:

p 2oty
3 2
ii = 4x

Makar Um0y

ot
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Question 7. | (4 marks)
By firstly factoxising, sblve

) A -1ix+18=0

s

if) 5m*=11m—-12=0

Question 8. @arks) :
By using the quadratic formula, solve 4);2 +3x-5=0

correct to 2 decimal places.

P

Question 9. @rks)

Find the solution to the inequality

3(2-x)-2x>1

. Question lO.@xarks)

Section C:  Consumer Arithmetic .

Question |. { (3 mjarks)

Shintaro borrows $150 000 to set up a furniture
business.

At afootball game Rueben bought 5 hotdogs and 4

drinks for $50-30.

He repays the debt over 10 years at a simple interest
rate of 9% pa.

Jessica at the same game bought 8 hotdogs and 1

drink for $63-20.

Find the cost of a hotdog.

. {
[6)] What is the total amount to be repaid?

(if) Find the monthly repayment,

Page 7

Question 2. '//marks)'

@ Claudia invests $50 000 with Standard Credit
Union for a term of 5 years.

Her investment earns interest at 3.1% per
annum compounded annualty.

How much will Claudia’s investment be worth
at the end of 5 years?
Give your answer to the nearest dollar.

(i) Claudia’s friend Zoe also has $50 000 to inves
for a term of 5 years. .

She invests with General Bank. Her investment
earns interest at 3% per annum, compounded
monthly.

Which friend makes the better investment?
Justify your answer with.appropriate
calculations.

Mador's Un Oy |
~
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Question 3. s%narksj

The table shows the total value of an investment of
" $1 compounding at varying rates of interest.

\

Period 5% 6% 7% 8%
1 | 1.0500 | 1.0600 | 1.0700 | 1.0800
7 1'1.1025 | 11236 | 1.1449 | 1.1664
3 | 1.1576 | 1.1910 | 1.2250 | 1.2597
4 | 1.2155 | 1.2625 | 1.3108 | 1.3605
5 | 1.2763 | 13382 | 1.4026 | 1.4693
6 -|1.3401 | 1.4185 | 1.5007 | 1.5869
7 | 1.4071 | 1.5036 | 1.6058 | 1.7138
8 |Gd77>| 1.5939 | 1.7182 | 1.8509
9 | 1.5513 | 1.6895 | 1.8385 | 1.9990
10 |(1.6289 | 1.7909 | 1.9672 | 2.1589
11 | 17103 | 1.8983 | 2.1049 | 2.3316
12 | 1.7959 | 2.0122 | 2.2522 | 2.5182

)

Use the table above to answer the following q?cstions.

Find the total value if $20 000 is invested at
5% p.a. for 8 years, compounded annually.

if) | Find the total value if $15 000 is invested at

\

12% p.a. for 5 years, compounded bi-anmally.

.

Question 4, f/marks)

Lindsay bought a car priced at' $20 000 on tcnﬁs.

He paid a 12% deposit and monthly repayments of
$677 for 4 years.

i) - Find the deposit. °

i) Find the total amount in repayments.

i) How much interest has been charged on the

loan?

iv) What is the equivalent flat rate per annum?

)

Question 5. y .
sfved a statement for her credit

In June, Phaedrg
card account.

Question 7.

(¥ marks)

The table below shows the :nonthly repayment on

i) How many days is she charged intcr?‘,o/n
her purchase?

if) Calculate the interest charged to her acccyut’f

1 T
Question 6. (2 rfarks)
Efim buys a photocopier for $5400. If the copier
depreciates at 12% p.a. compounded monthly, find

its value after 5 years.

) home loans.
. . . Monthly repaymenis
The account has no interest free period and simple
.interest.is calculated and charged to account on the Amount % 5 Te;’(;' ofloan = 5
' : porrowed | J0yeass | 15yean | 20years years years
statement date. . o 190 manths | 180 months | 240 months | 300 months | 360 woaths
K N $800001  $970.62 $764.52 $669.15 $617.45 $587.01
(’3‘;;’1‘:5“::;‘5;:’:' Sum Bank $00000|  §100105 | 86009 | §752.80] 869463 | 66030
’ Credit Card Statement $100000| $1213.28| §955.85 ) §83644| S7TL82| - $73376
Swtament date: 20 June 2008 $110000| §133460| $105122]  §92008|  §849.00]  $807.14
Previous Paymehis Purchases tnterast $120000 | $1455.93 | $1146.78 $1003.73 -$926.18 $880.52
balanice charged $130000| $I57726| §124235| $1087371 §100336| (§953.80
5263.83 526383 $s17.72 1 sid0000| $160850 | $133701| $umo| $10s0s4 | §1027.37
et Y Paohasss R $150000] 5181901 | $§143348 | 81254166 | §1157.72) $1160.63
BMay . Ooncert tickets 861772 steoo00| $iodr4] [s1s200%| gTassap| §123401| $1a0z|.
"‘";‘“‘” pementage m‘:;ﬁ;’i 1) Poppy can afford to make repayments up to
D tage rale: 0 ;
ly percenage e - the value of $1000.per month,
Note: Inlerestis bharged o7 amounls from (and freluding) ihe dale of
P Hplo erd e oo What is the most Poppy can borrow and how

many years will it take for her to repay thg
loan?

Most she can borrow = ..

Time to repa}} the amount = .

i)

Daniel borrows $160 000 over 15 years from
the same bank. If he chooses to repay the
- same amount over 20 years instead of 15,
how much more interest is he charged?

Page 10




Section D:

Working mathématically,

.Question 1.

(o

Q‘uestion 2. (/S/mar\c) .

i) ‘It is known that line k is perpendicular to line /. -
: . ’ . ) . (a) Show APQS ||| AQRP
Line k interseots the y axis at B (0’13) - Point A(6’1) is Find the equation of line / in gradient-intercept . - S
the intersection of lines kand /. : form. [ . v
y D
B\ 13 Not to scale
1 Q 1
(b)  Hente show APQS || AQRS
T e \
/C/ .............
)  Showthatequation ofline kis givenby . e
iii) Find the area of triangle ABC
: 2
(). Deducethat (QS), = PSxRS
P - . .
Maeimon | irreeeereeerrees s s SRS RN PP PP PP PR ST TSP R TP T T
...................... -’ TR R R R N E R L R .
Page 11. | iieeiesessrsecssrecieressiniatisiisinianaiysr sty poge 12




Quéstion 3. /(7 mgiks)

Huw has borrowed $300 000 from a home mortgage lender, Tnterest is charged at 6% p.a., compounded monthly.

. The table below shows an incomplete monthly repayment schedule.

i) Explain v{}hy the interest owing after one

month is given in the cell B2 is $1500.

if) If Huw intended t repay the loan, what '
: amourit would the repayment have to exceed?
’ .

iif) Huw comes into some money left from a dear
old aunt. After one month he is able to make a

repayment of $75,000.

_ Find the balance owing affer 1 month,

i)

v)

i)

If Huw is able tb make another repayment of
$75,000, find the balance owing after two

‘months.

%

- .
Huw continues to make repayments of $75000.

Complete the table to show the balance after

four repayrments.

s

" Is he able to repay the loan is four months]/

What is the equivalent flat rate interest Huw

paid in the four months? Correct to two d.p.

Matoc'stlus Oy

v
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1

Section A: M: a ‘ Question 3. Qs/marks)

Question l. @rks) ‘ i

In the diagram BC = CD and ZACB = ZACD=90".

_ Byaluate 8 for the following diagrams, giving reasons for your answer.

Note: Marks will be awarded for communicating all reasoning.

Prove that AdBC = A4DC giving all reasons. o B } 28 +102° 4 70"_ +8 = 360" (Lsym of 2¢ a.d)
' 30 = 148° ‘
o
B \‘ C II D % = 56 i

tn ARBC and ABPC -

W A6 aah DB

) 14 e = LB (Q\{/Wmmif}

DA S I

............................................................................

Question 2. (3 mprks)
Prove that AdBC |[[ADEC giving all reasons

Loy = Lpec ( ftserp e i)

ARG (I & DEC (@qujulcw

g- 60 - (3o 4/60\ (&/CUM o ¢ *mqn;(;)

O L8 - K
Question 4, //mark) g

The image shows an insect drawn using a scale factor of 3.

SCALE
331
! length i !
: S Eetrrnnbagy
By firstly measuring the image, find the actual length of the insect.
Actaal leagtt - Image ) sty

3 N !

/50’7 h 50;7 I
}

Page 3
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Question 5. @45)

AABC is similar to AADE.

,AB=,601ﬁ,BC=3 c¢cmand DB =2 cm. .

E
c
| NOT
‘ TO
W § SCALE

D B A
e 2 €L e 6 OO o]

* Evaluate thglcngfhofED. -
- (iAe Tn 'V(vpol(—«‘w\ Fo(
S{mitar Al :

The interior angle of a regular polygon is 140°.

How many sides aoes the pol&gon have?

: leb v ue nuvewe (OF
(N -2)xt%0 _1ad Sides

l
Question 7. 5/ marks)

Amy swims each moming from Stormy Point (S) to the
end of the jetty (J ), she then runs along the jetty to
bridge street and directly back to Stormy point,

Story Point
E
,/
g/
f NoT
Y " 10
o SCALE
&
7
/
J /
fo—— Jetty S00m —
How far has she travelled?

Question 8. [ (2 marks)

Find the size of urf interior angle of a regular polygon
whose angle sum is 6120°. '

Lonasgg ,

24

“Section B:

Algebra .

LIL

/

A Questioé\ l. Vmar&)

A line passes through the points 4 (.—2,.7) and
B(4,-3).
1) Find the gradient of the line.

P I R T R TT R R T R P IR ST TR R R

if) Hence, find the equation of the line passing
through 4B leaving your answer in general
form, - . {

/~7- -55.' (e+2)

3]~2/ 2 g~ 10

. B #dy -l 2O

Question 2. Sﬁ/marks)
A line hias the equation 6x~2y—5 =0.

i

i)

L equafidn 0@ Laat

Rewrite the equation in gradient-intercept
form.

What is the equation of a line paralle] to
6x—2y—5=0 that passes through the point -

(~1, -4) ? Give your answer in general form,

M( x M2 _2f €hen tine Ty para%bl

. ijm(ffm" oF [fne /7&(’0‘//“7

Ne

ey L o> (2 =D



Question J.Z‘/marks)
The line y =21 + 8 crosses the x axis at C (4,0) and

intersects line / at 4 (-2,12).

. ¥ .
A {—2,13\

i CH4s)

1o ]
il ' y=-Ox+8

i) ‘What is the equation of line /?

if)  Determine if the point (-3,14) lies on the line

y=—2x+8.

A circle is to be drawn with diameter 4C.
. ‘ i)
iif)  What are the coordinates of the centre of this

circle?
ps Jen )

M (F{ e '

S lendeey

' (16},
iv)  Caloulate the radius of this cifcle. i)
_ N« Co- o

tootdinties oo

Question 5.

Ity

Question 6. Sﬁ/marks)

Solve the following equations:
!

Question 4. ((1 éa.tk) '
Ifx= vb*—4ac evaluate x if a=2,c=—6and b=—4

re F—ar2res

r‘%ﬁ g

A

/

marks) -

=§§x—4 find an expression forxmterms of y.
B W = A& l
25N =2 = 4»_. _

z (gj—-l) =4 \
. __4_‘;__ -

2{xH) - Az —1)

e

-4

=¥l I.ES

2 ﬁ?;ﬂ)

Zka’%z +3 -—"5/[4‘

X %
e /oA

:. 7C_-: q [ [r———
. ¢
Page §

¢

Question 7. Questlon 9. @rks)
By firstly factoiising, solve
. Find the solution to the mequallty
i) x*—11x+18=0
22 - ,szwg‘ 3(2-x)-2x>1

w(e-a)—2lzx—) =o

' = oV q 6 Ll g?C > 1
e-2)(r-N=0 -7 2 e s
................................................................. re> —FC
i) Smi-11m=12=0 e / .................
§m2 kb —tSm—=0 2L N
. Question 10, ks)
M gm},(g)-g(ﬁ/h&&\ D :
""""""""""" At a football game Rueben bought 5 hotdogs and 4
drinks for $50-30.
(M -3) (Smeg) =0 : .
_ Jessica at the same game bought 8 hotdogs and 1
= EN1d /g, drink for $63-20.
Question 8. @fm) ' Find the cost of a hotdog,
By using the quadratic formula, solve 4x* 4-3x~5=0 ¥ h = b32w — ®
correct to 2 decimal places. 6‘ b \_ A(()‘ 50. 20 - @
s m .......................
——r—f/'——-———‘

A 2 Y d 63 zo«%\« )

e B inie Q)

ﬂ\ v Mgz.zo-%m = $0-30

Cht ’ZS‘Z 5 -39} = So- 30

X 0.9 (w\ oi -1550Ga) 2 <105 .y
................................................................. W W nto ©
I 2 AT A A
................................................................. = §. 20 e
S hotdo 9 o§+3§F S Paz,l}

Und driatle COLEs
92-2s



Section C:  Consumer Arithmetic .

Question I. | (3.marks) Question 2. - /4/ marks)g
‘Shintaro borrows $150 000 to set vp a fumiture @) - Claudia invests $50 000 with Standard Credit
business. Union for a term of 5 years.

Her investment earns interest at 3.1% per
annum compounded annually.

How much will Claudia’s investment be worth
at the end of 5 years?
Give your answer to the nearest dollar.

A= soooo((+ 6.0 3))¢

He repays the debt over 10 years at a si’mple interest

rate of 9% pa. ’ ‘YN : )
Lamseitan Gy wige, b3 824G (et

() Whatis the total amout to bo repaid? @)  Clandia’s friond Zoe also has $50 000 to inves

: for a term of 5 years. :
T= LSO000x .04y O , ,
................................................................. She invests with General Bank, Her investment

earns interest at 3% per annum, compounded

'E > 3560006 monthly.

‘Which friend makes the better investment?
Justify your answer with.appropriate

............................................................... sty your
B
)”2"
e soeoo (1T

(i) Find the monthly repayment.
‘ 18§ 00

sk U Dty

Page 8

Question 3. ?élarksg _

The table shows the total value of an investment of
" $1 compounding at varying rates of interest..

Period 5% 6% 7% 8%

‘[ 1.0500 | 1.0600 | 1.0700 | 1.0800°
"1.1025 | 11236 | 1.1449 | 1.1664
1.1576 | 1.1910 | 1.2250 | 1.2597
1.2155 | 1.2625 | 1.3108 | 1.3605
"1.2763 | 1:3382 | 1.4026 | 1.4693.
1.3401 | 1.4185 | 1.5007 | 1.5869
1.4071 | 1.5036 | 1.6058 | 1.7138
G775 | 1.5939 | 1.7182 | 1.8509
1.5513 | 1.6895 | 1.8385 | 1.9990
(16285 | 1.7909 | 1.9672 | 2.1589
17103 | 1.8983 | 2.1049 | 2.3316
20122 | 2.2522 | 2.5182

ard I CY ST AN SN FE T N (R ) o

=
N
=
~
0
o
p0=]

Find the total value if $20 000 is invested at
5% p.a. for 8 years, compounded annually.

. 435 ¥ 20000

Cif) Find the total value if $15 000 is invested at
12% p.a: for 5 years, compounded bi-annually.

223
e LT&OO(HU_%:’;)

N 268520 su<

Skl gl 2 A 2bEb2A1S

'
n

7

Question 4. marks)

Lindsay bought & car priced at'$20 000 on terms.

He paid a 12% deposit and monthly repayments of
$677 for 4 years.

i) - Find the deposit.

if) Find the total amount in repayments.
Totad repayments
s PETT X4 %12
= £32496

i) How much interest has been charged on the

loan?

Intereot c/myeoc )
$32496 ~ ($20000 ~Fa24)

2 89

n

|
|

iv) What is the equivalent flat rate per annum?

<

Aat rafe per annam

- 4896 4
17€00

= ©-21159.

& 2108 Yo (o 2dp) wq)

Page 9




Question 5,
In June, Phaedra

card account,

ofved a statement for her credit

) Question 7. (¥ marks) Lf

The table below shows the monthly repayment on

home loans.

Monthly repaymenis

The account has no interest free period and simple
- interest is calculated and charged to account on the Amount
statement date. ' borrowed

Term of loan

10 years 15years | 20years | 25 years 30 years

120 months | 180 months | 240 months | 300 months | 360 wanths |

s Jema B o . L 7{ $80000 ) $970.62 $764.52 §660.15 $617.45 $587.01
c‘ ;:;m r:s:;o:m ' Sum Bank @ $90000| §109195| $86005 | 675280 S60463|  §660.39
s : Crodit Card St g S100000] 8121328 595565| $83644] S$T7182| $73376
Statement date: 20 June 2008 §110000| §133460 | $105822|  $920.08|  §B40.00|  $807.14
Pravious Payments Purchases interast 5120000 | $1455.93] S114678 [ $100373| -$926.18 $880.52
balarice chatged $1300W0| §1577.26 | §i24235 | $1087.37| $100336 | (3953480
§262.63 526383 sz [ ] $140000 | S$160850 | s133791 | surnoz| $i0s0s4| s1001.m7
Dt Puchasss Amount $150000 SIB19.91 | $143348 | $125466| §1151720 §116065
23 May Oonoert tickets 861772 ste0000 | $io414 | [s152008 [ §Tassy| $123491| $mm].
';;“;a} pm;'mg::‘: ;:;“’; i) Poppy can afford to make repayments up to
eroen G
i * - the value of $1000.per month.
Nota: lnfu/esﬂs charged on amotanls fom (and hcluding) the dale of
_ P 1o fand okt 1o . ‘What is the most Poppy can borrow and how
many years will it take for her to repay th
i) How many days is she charged interest6n loan?
her purchase? . oo O
P Most she can borrow = $(30 .................................
......... ZA ALY Dt o
Time to repay the amount = .20%.. lj%ﬂ....."f.‘f...ié‘.’..’.“”"’””)
................................................................................. i) Daniel borrows $160 000 over 15 years from

0.000a48
T= 60732 x roAglrx 2

the same bank. If he chooses to repay the
- same amount over 20 years instead of 15,
how much more interest is he charged?

{V]LW\’/S}' ‘n ),O\/'ng

L3Ry 3ox 240

E S AR

Question 6.

Efim buys a photocopier for $5400. If the copier .
depreciates at 12% p.a. compounded monthly, find = L

its value after 5 years.

Fy > Sop(1-22)""

fV\Jrérbj;» l.‘/l [ Y Yl v

LoVl ia Syeans

{1854 6%

Solapeesk = 05227

zéqu 2 F
v 457960

Muro's Use Oudy.

Page 10
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Section D: Working mathématically.

'Question I @arks)

Ling k intersects the y axis at B(0,13). Point 4(6,1)is

the intersection of lines kand /.

Not to scale

-

i) Show that equation of line k is given by

yeaxi1s €07 ) (6] )
A=l o d-r
e 2 BT e
..... By-10) = TL22
by —FE=—-trx
_ - 1 '))6/
6(_:’ \2x 1" ,

U equuedda setiae S eauu k\a/

-‘,.'é.c: va s ] o
A Pveas \; w (s ¥ 170 C
‘q‘ A'(e,di'lk(\}m;(ij Page 11 .

it) ‘It is known that line kis perpendicular to line .

Find the equation of line / in gradient-intercept

form. .
™ x Mo | Cpgf.oerzdr'cvm
Yo tine K Ts rdpemﬁ'cdlmm’
L .aana.. gt 0b. Sov v, L. e

i) Find the area of triangle 4BC

i Jec-ony ((-3)F

poo {0

’*"W
Pl (aS

e+ K?az_f ge* /




Q'.uestion 2. (/S/mmL)
()  Show APQS || AQRP

ln A PQS _A&KF

' d ' ‘ S 4Ps@ 3 LPAR = 90" (gived)
T N - ‘ L P is common.
< ; APES |} APRQ
\ (Equiangudar) |
0 >R | _ |
N
(b)  Honcs show APQS || AQRS
) 5
...... Ih 4rQS AGRS '
...... LPsq = LRSA =90°(Given) -)
Let LQPS s, LQRS T 90 '
....... » .’. z ({&5: 900-(901‘:() eteriangenteedietratiiesasens
, s = ek
. APAS ] AGRS (Egubguler)
..... . Y.
(c) Dcciuce that (QS).2 = PSxRS
ra ']
Since A PRS AQRS  proves
. M ALE L i
) dhen LS - 9:.; A
. as &
, F; xRS = AS x QS
......... RGN

Quéstion 3. @ks)

Huw has borrowed $300 000 from a home mortgagé lender. Interest is charged at 6% p.a., compounded monthly.

. The table below shows an incomplete monthly repayment schedule.,

awow | s 301500

gﬂ‘?oex; .

22650C

¥226560 | YW [0 @E1C

$YyS 000 -

$1$24372 . 5D

{5205 < [ 630 [ ASTATEG (g5 000 | 1A B3US 6L
} P55 66 | & 24\ 9B ‘{?‘6’}.3?--(7‘\‘ €35 000 | $31g1 69

i) Bxplain why the interest owing uftexl one iv)
month is given in the cell B2 is $1500.

‘months,

ﬁ??gu;m Youy oted R{{v\p‘le (rlopesy Bovu

©Rtone waptla:

~12:300000€ 006 w / |

Yaqvor

amourit would the repayment have to exceed?
P . :

8\ sV

Q15263250

S N G PP Y . Is he able to repay the loan s four mon7
T " Mo A< iSnoft '

if) 1f Huw intended t6 repay the loai, what

If Huw is able to make another repayment of
$75,000, find the balance owing after two

v) Huw continues to make rcpaymcnté of $75000.
Complete the table to show the balance after
four repayments.

vi) ‘What is the equivalent flaf rate interest Huw
paid in the four months? Correct to two d.p.

.

335 71.69 = 200000x 2 x f\i;

iif) Huw comes into some money left from a dear
old aunt. After one month he is able to make a
repayment of $75,000. o

Find the balance owing after 1 month, _

Madw'sllntdy

+
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